SWM
B RS 1 8 Q0" HANSAVFLEX

_}:3

BO1 KEINRE, B AT
BHERXN1 BHELR
#£02 KEISIRLL, B AT

FHER 2 2404
gges Bl IR E IR
-2 2F AE0°

Y DIN 2353

ISO 8434-1
HesEE TR IR MBI EE
R$ 2

RERP BERE

#R
BRZE. A, EXARNATHIERENRAEEZSAERIEEZNERER.
# @

SRR IEED

=)

SWM 04 LL LL PN 100 4 M8x1 12,5 6,0 21,5 10 21 13,0 12 14 10
SWM 05 LL LL PN 100 5 M8x1 14,5 6,0 21,5 10 22 11,5 14 14 12
SWM 06 LL LL PN 100 6 M10x 1 14,5 6,0 21,5 10 22 11,5 14 14 12
SWM 08 LL LL PN 100 8 M10x 1 14,5 6,0 21,5 10 23 12,5 14 14 14
SWMNWO04HL12 L PN 250 6 M12x1.5 18,5 9,0 27,5 13 26 12,5 17 19 14
PN=fIEESD PB=BAKIEEN - EMRILL=3FER =B S=E - 0d2=E/NER
FREE

SWM VA [E#ENIZRERE AE0°, THN
XSWM BN IBRIERE, AE0°, W

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
25.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



